obooooO:20060 120 10

OcUOo00ooooooooo(@mo)oon

0 0
p.1 40 +00000000z000 40 t+00000000z000
_ i dy dy _ d  dy di—1
g o= (GGt o) x s g o= #(do+ G+ o+t or) X8
B B2 Bt B B2 ptt
= :t(Odldz .. .dt),g X ﬁe, = :l:(do.dldg .. .dt,1)5 X ﬁe,
dze{oa]-::ﬂ_]-}a elninSeSemax dZE{U,l,,ﬂ—l}, elninSeSemax
000000D00000000000+0000e0000(dhdz...dy)s |0 0000000000 000000+ DD000e 000D
000000000000000000000000000000000] (de.dida...di1)g 0000000000000000000 B0
000000000000 00000 000 (do.didy...d 1) 00000000000000000000O
ooooooo
2, (1.2
P po (Lo Lo L L) i — 0001t r= (04 2+ 1+ ) x 107t = 0.0011
=\ \10 " 102 T 108 T 102 B = 10 7102 " 108 R
0000000000004, #000000000000 0 0000000000004, #000000000000 20
1 1 1 1 . 1 1
= —+—+— +— ) x102=0.001111 i=(14+—+-—+-— ] x107% = 0.001111
! <1o+102+103+104>><0 00011 ! <+10+102+103) U =000
O000#0000000000000000000000 O000#0000000000000000000000
p.2, 00 x4y = (0.43251 + 0.0000023446) x 10% = 0.43251 x 10° = T+ y = (4.3251 + 0.000023446) x 102 = 4.3251 x 10? = x
p.2, O 000z = /10001 =~ 100.005 = 0.100005 x 103, y = /10000 = 100 = | OO0 Oz = +/10001 ~ 100.005 = 1.00005 x 102, y = /10000 = 100 =

0.100000 x 10° 0000z —-y0O 1000000 60000000000
ooad

x —y = (0.100005 — 0.100000) x 10® = (0.000005) x 10°> = 0.5 x 107>

1.00000 x 10?0000z -y 0 1000000 60000000000
ooad

x —y = (1.00005 — 1.00000) x 10* = (0.00005) x 10? = 5.0 x 1073




O O
p.3, 0
— 1 1 — 1 1
10001 = V10000 = /10001 + /10000 _ (0.100005 + 0.100000) x 107 10001 = V0000 = /10001 + /10000 _ (0.100005 + 0.100000) x 107
_ (0.100000) x 10 _ 0100000 i 5 (1.00000) x 10~'  1.00000 1
(0.200005) x 103 ~ 0.200005 (2.00005) x 102~ 2.00005
= 0.499999 x 1072 = 4.99988 x 1073
p-3, 0
= (5. .12 i1 =1 12 = 1.26,
(@+y)+2 = (0.537+0.612) +0.128 = 1.14 + 0.128 = 1.26, etz = (BT 04 X0 280 (L 0428 2 0T = 120
z+(y+z) = 537x107 +(6.12+1.28) x 107" = (5.37 +7.4) x 107" = 1.27
T+ (y+2) = 0537+ (0.612+0.128) = 0.537 4+ 0.74 = 1.27
p.5, 0 1.1
[ eumax | +127 | > +1023 [ +1023 | > +16383 [ €max | +127 [ > +1023 [ +1023 | > + 16383
p.5, 01100 oooooooooooo (1.)yoooood, =10000000000 (000000000000 (1L)oooboody=10000000000

oo

oo

p7, 00000 1.3

#include <stdio.h>

#include <stdio.h>

#include <string.h>

p.10, 000

(0.111...1)y x 21023 = (1 — 2753) x 21023 21023
(0'100 . '0)2 X 2—1022 — 2—1022—1 — 2—1023

Tmax =

Lmin =

(L11...1)5 x 21923 = (2 —
(1.00...0)5 x 271022 = 1,0 x 271022 = 9~1022

59 2 2
Tmax = 2 o-) X 210..3 ~ 210..4

Lmin =

p.12, 000000
0,0000000
OoOoo0ooO0O
oooO

oobobOooobOOo0o 200000000o0o0ooO0obobOobooboona
obooooooooooon

00000000000 200000%00000000000000
coboooooboooooooo
1 00000020 200000000 200 2 00000000000000




p12, 144000

14w 142795

10 0y py(l 0 0\ yos
= GHptotam) <2+ Grmtotam) >
10 01y,
- (5+27+"'2§+2H)X
0000t=53000000000000000000000000000000000+

gooooooooooooooooo

0
l+u = 1427
00 0 o (i 0 0 0 s
= (1+5+2—2+~~~+252)x2 +(1+5+2—2+~~+2@)x2
_ (0,0 0 1Y
= (Lot et g) X

DDDDt:53DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%
gooooooooooooooooo

p.12, (1.3)
_ 1 0 0 _ _ 0 0 0 o _

1+u—(§+2—2+---+2§)x2—1 (1.3) 1+u_<1+§+2—2+---+252)><2 —1 (1.3)

oooood 0000000001427 =23(2+427%)=1(1+1+27°)000
1+27%30101+27200000000000000000 2000
Oo00bo0oooooobo0o oooooo 1100000000 ooa
l1++w=1000000000000
pl13, 1—w000
1—uw = 1-27% 1—u = 1-27°%

10 0 1 0 0 _ 0 0 s
= (Grg+t o tgm) 2 (Grogtotam) 2 = (g4t tgm) ¥ - (I gt gg) x27
= (l+£+...i__)><2 = (1+9+£+...i_i)X207(0+l+i+ +L>X20

2 22 253 254 2 22 252 253 - 2 22 252

0 1 1 11 1 0 .
= (§+22+ '253)X2 = (1+§+?+"+ﬁ+252>xz
= (1+i+ +ot 0)x2°
- 2 22 252 253 000000000000 1+« 00000000000000000000000000000000000

11 1
= (5+27+ "+2§)><20 00000000000000014w00000000001-27% = 1(2-27%) = 2(1+1-27%%)

000O01-2"%0101-2"°20000000000000000 0000 100000000
oooooo

000000000000000000000000000000000000? 0001—-27%200

gooooo0o0obD o0OOOOOOOOOOOOOODOO




O O

p13, 000000 | 0D0000D0000O01+epy>1000000000000 000000000014 ey >1000020p000)0000000O
goodedad oooooo
p.39,(3) 000 Oo0o0O0ooo0oooOooooooobooao Oo0ooooooooa
p.65, 0D OOODO | int i, j; int i;
340 mainO0 00O
p.88,(4.31) 00O O0o00ooboOoOobooooooooooooon O0o000oooooooooooooboooooo
p-98, jacobi_ lin free_dvector( xn, 1 ); /+ 0OOO0O %/
oooogoooif if ( k == KMAX ) if ( k == KMAX )
0 0O free_dvector { ] {
Oo0 if 000 }prlntf("DDDDDDDDDDDDD\H"); printf("l][ll]DDDDDDDDDD\n");
oo0ooooooao else exit(1);
exit(1) 0000 { }
printf ("0 0000 %A000N\n", k); /x JOOOODOOOO =/
N return x; else
} {
free_dvector( xn, 1 ); /+ 00000 / printf("00000%000\a", K); /+ 0000000000 #/
return x;
}
p-103, gauss_ free_dvector( xo, 1 ); /+ 0OOO0O =%/
seidel 0 OO 0O if ( k == KMAX ) if ( k == KMAX )
oooo if ool 1 {
free dvector [ }prlntf("DDDDDDDDDDDDD\H"): printf("0000000000000\n");
o0 ifooog else exit(1);
oooooooaof '
) printf("00000%d 000N, k); /* OO0O00O000O000O =/
exit(1l) DO OO return x; else
oo } {
free_dvector( xo, 1 ); /x OO OO0 #/ printf ("OOOUO%ROUUN", k)5 /+ DOOOOOOOUT +/
- return x;
}




O O
p-107, sor O OO free dvector( xo, 1 ); /+ 00000 x/
ooooo ifdo if ( k == KMAX ) if ( k == KMAX )
free_dvector [ { ) {
OO0 o000 }pI‘lntf("DDDDDDDDDDDDD\H"); printf("l][ll]DDDDDDDDDD\n");
oooooooad else exit(1);
exit(1) 0000 { }
printf("00000%d 000N, k); /* OO0O00O000O000O =/
oo return x; else
} {
free_dvector( xo, 1 ); /+ 0ODOOO =%/ printf ("0DOOUO%UOON", k)5 /+» DO0DDODOOOD */
return x;
}
p-113, cg O OO OUTPUT:;

ooooo ifdo
free dvector [J
oo if ooog
oo0o0ooooao
exit(1) OO OO
oo

QUTPUT:;
if ( k == KMAX )
{
printf("0 000000000000\ ;
¥
else

{
printf("O00000%000\n", k); /+ DO000O0O0000O0O */
return x;

¥

/+ 00000 */

free_dvector( r, 1 ); free_dvector( p, 1 ); free_dvector( tmp, 1 );

/x 00000 %/
free_dvector( r, 1 ); free_dvector( p, 1 ); free_dvector( tmp, 1 );

if ( k == KMAX )
{
printf("O0 00000000000 O\n");

exit(1);

¥
else

{
printf("00000%d000\n", k); /*» ODOO000O0O0000O %/
return x;

}




p-120, 0 OO OO
6.1 0 main 00O 0O
OO0 int i; OO
oad

FILE *fin, *fout;
double *x, *y;

int i;

FILE *fin, *fout;

double *x, *y;

p.12100000 4
goooooooo
obooooocooon
oooooood
gooo

/00000 =/
fprintf( fout, "OO 200000 y=\n");
for( i =N+1; i>=1; i--)
{
fprintf (fout, "+ %5.2f x~%d ", alil,i-1);

/* 00000 =/
fprintf( fout, "OO 200000 y=\n");
for( i =N+1 ; i >=1; i--)
{

fprintf (fout, "+ %5.2f x~%d ", alil,i-1);
}
fprintf(fout, "\n");

p.123,0 6.2, OO
02000x000

0 0.2 0.4 0.6 08 1

26

221

18

16

14




p-126, 0 00O OO
6.20 main 00O 0O
OO0 int i; OO
oad

FILE *fin, *fout;
double *x, *y, xi; /* xiO0O0O =*/

int i, n;

FILE *fin, *fout;
double *x, xy, xi; /* xi0O0O0O =*/

int n;

p.128, O (6.16) O
O

0000 G(z)00000000000000000Oz€[q,b]0000
O0z€a,b)000

0000 G(z)000000000000000000z€[q,b]0000
O0z€[a,b)000

p.1280 000 00 Owpyr(z) = 2" +apz” +an 12" 1+ a124+a 0000000 | 00 Owpyr(z) =2 +apz™ +ay 12" 1 +---a12+ao 0000000
00000 Dwy(z)™t(¢) =(r+1)!0000000000000000{ 00000 Qwpyt(x)®(€) =r+1)!00000000000000
oo
p.1290 0

1
(n+1)!

F(2) = Pu(z) = F ) (Owni (2)

oooooogd

oooooood

p.131, O (6.22)

Pn(z) = [fo] + (z — o) flwo, 21]

Pn(z) = flzo] + (z — m0) flwo, 21]

p.132, 00000
6.3 0 main 00O O
OO0 int i; O 0O
oad

FILE *fin, *fout;
double *x, xy, xi; /+x xi0OO0O =*/

int i, n;

FILE *fin, *fout;
double *x, *y, xi; /+x xi0OO0O =*/

int n;

p.142, 0 (7.10)

/ab f(x)de

/::)2 fe)de = /jh f(e1 4+ z)d=

h 22 ZB 24 "
/_h (f(m) +zf'(x1) + Ef”(wl) + gf”/(l’l) + Zf( ) (1) +) dz

he h® hT e
th(l’l)""?f (Il)“"%f (Il)""%f (z1) + -

/: f(x)de

/:)2 fe)de = /jh f(e1 4+ z)d=

h 22 ZB 24 "
/_h (f(m) +zf'(z1) + Ef”(wl) + gf”/(l’l) + Zf( ) (1) +) dz

e R (@) hT )
th(l’l)""?f (Il)“"%f (Il)“"mf (z1) + -~




O O
P43, 0 (71 [(wo) — 2f(w) + flz) e [(@o) — 2f(s1) + f() B2 et
Mgy = J@0) =2 (@) + f(@2) ATy R ) gy = J\w0) Z 2 @) + @) Ty oy o)
1) = L @) - O @) e () 7(@1) = . L) — o fO ) e (1)
00O0000(7.11) 0 (7100000000 000000(7.11) 0 (7100000000
b 5 7 b 5 7
[ f@yts = S0 @0) + a1(wn) + Fla2) - G5 1O o) + 156 1)+ [ @yt = S0 @0)+ 45(wn) + Flaz)) - G5 1O on) 5 7O en) 4
p.148, 0 (7.15)
TE_T o~ %2 o1 o~ Y
0 T Mk 0 T R
(7.15) (7.15)
) b—a . b—a h? . b—a b—a_ h?
Tt =1~ Mgy = 5 Mip Ty =T~ g Ml = == Mg
oooo b—a b—a

5 MyOOGOOoOoOog

0oo0o07Ty-1>0,TF* —1r>0000

2 MyOGOGoOGOooog

p.1480 0

T 0)

3

: h?
p) 2
hi iy h;,




O O

T1 T
p.152, 0 3000 DDDm0<mhjb:f@mLflszﬂ,h:xl—mmlzi/ flx)de O DDEm<mhh:m—me:/wf@MwDDDDDDDDDDDDDDDDDDD
o

o

00000000000000000000 DDDDDDz:m—mo;rmlDDDDDDDDDDongmngDDDD—g§z§g
goooon oooooo
SESISIaRsisstulals
! h? n n? " n* (4) 22 23 24
fi=tfothfot+ 5rfo +5rfo +grfo +oo f) = Q) +2f'0)+ S f0) + G0 + 5 FO0) +
h h . h* hE ht
0o | 1(3) = 1O+ 57O+ 5O+ )+ O+
' Ji—fo b, h? 1 ht (4) (7.18) 9 3 4
f0: Y - a — 54J0 T 777 : h o ho R* h® h (4)
. oo 2Tl Ty 1(-3) = 10-2r@+ 5o -5+ oo+

goooooooooo0oooon Tp O

[ v = [ s w6 (1)
h

h h: ., h
= 5 (o e

IO+ 155

4

2 3 4 %0 +)
[ (fretin St S+ 50+ ) 3 Ci O
0 . . . h h
‘ = hFO) + 1O+ o PO (7.18)
h2 h3 hé ho 8 384
= hfo+ Gl I+ 5l e+ (119)

120 Oo0oo0o0ooooooooo
DDDDDDDDDD(?.IS)D (7.19)D[|[| /mlf("t)dm‘ _ ;if(z)dz
o f0+f1 n? n h® (4) ’—12 2 3 4
f(z)dw = h — _ ( L0 4+ 2o 7 (0) 4 P 1 (0) 4 P () ) .
/EO () 5~ 130 ~ 15070 /ﬁ JO) +2/0) + S (0) + 2 7(0) + 2o f D (0) +- ) as
fo+ h = O+ )+ @) (7.19)
DDDDDDDDDDDDDDDDDDDDTg::hTDDDDD B 24 1920 ’
(7.7) 0 0000000000(7.18) 0 (7.19) 00
[ r@an-to = (h0)+ 2O+ s V0 4
L, e = 24 1920
- (O + 10 + S @ )
8 384
_ h? 17 h? (4)
= —T0) = 1 ) -

0ooooooooo(r.n)o




a O
p.1520 (7.21)
_ b—a . ) b—a .
Ty -1 =~ D) Mihi + O(h3) ITE -1 =~ 5 Mk + O(h})
k41 b—a 2 4 k41 b—a 2 4
Iy -1 ?Mlhkﬂ + O(hj41) Ty — I 1 Mihjyq + O(hiiq)

p.1550 (8.9) 0 O

Yir1 — (Qoy1 + - + Qk—1Yikt1)

Yit1 — (Qoyi + -+ + Qp—1Yi—kt1)

h h
o010
p.158
h? h?
Yigr = yi—i-hy’(wi)-i-71/”(1?1-)-&-0(’13) yit1 = yi+hy/($i)+7?/”(1’1‘)'*‘0(’13)
2 v v oo ) — F(a v) — O(R2 2 . R (e w)) — Flaw) — O(R2

= v b+ (““*’“yl”( wy)) = M v 2O )> +owm?) = v b+ (f( tloy E e v)) = M) = OO )> +o(h?

= wn by (i) + F(eisn, v+ S i u0)) + O(R°) =yt (i wa) + T @i, v + S (i) + O(R)
p.le000 0000 | end for end for

ubooooooo
ooooooooo
ood

p-161 0 main OO
oo

/* 00000000 */
double *rk4( double y0, double a, double b, int n, double (*£)() );

/¥ 00000000 =/

double *rk4( double yO, double *y, double a, double b, int n, double (*£f)() );

p-161 0 main OO
O

y = dvector( 0, n ); /¥ 00000 %/
y = rk4( yO, a, b, n, func ); /+* O0000O0O00O =%/
/* 00000 =/
h = (b-a)/n ; /* 000 x/
for (1 =0 ; i <=n ; i++)
{
printf("x=%f \t y=%f \n", a+ixh, y[i] );
¥

return 0; 10

/* 00000 =/
/¥ 00000000 =/

dvector( 0, n );
rk4( yO, y, a, b, n, func );

y
y

/¥ 00000 =/

h = (b-a)/n ; /* 000 x/
for (1 =0 ; i <=mn ; i++)
{

printf("x=%f \t y=%f \n", a+ixh, y[i] );
¥
free_dvector( y, 0 ); /+ OOOOO =/
return 0;




O

p.l1610 k4000

/* 00000000 */
double *rk4( double yO, double *y, double a, double b, int n, double (*f)() );

000000000 |/« ooooooo0 s/ {
0ooooo %ouble *rk4( double yO, double a, double b, int n, double (*£)() ); ;i::blle k1, k2, k3, k4, h, x;
double k1, k2, k3, k4, h, *y, x;
int i; reéurn Vi
y = dvector( 0, n ); /* y[0,1,...n]1 000 =/ X
return y;
free_dvector( y, 0 ); /* DOD OO %/
}
p.169 1 1
f(z,y(z)) — Pea(z) = Al (k) (§wr—1(x) f(@,y(z)) = Pi1(z) = yf(k) (Qwr ()
googod googod
Tit1 1 (k) Tit1 Tit1 1 (k) Ti41
o= [ ) - P@)de = 10O [ on@de | v o= [ (@) - Pa@)ds = /0@ [ alede

Tit1
(x —@i)(x —wi—1) -+ (¥ — Ti—pg1)dx

1 .0
- e[

Ti

coooooooo0Dez —o;,=mO0O00Q02; =2;,1+h0O0O

Tit1
(x —wi)(x —wiz1) - (¥ — Ti—py1)dw

1 .0
- e[

Tq

coooooooo0De —o;=mO0O0002; =2;,-1+h0O0O

p-172 0 main 0O O
oo

/* 00000000 */
double *rk4( double y0, double a, double b, int n, double (*£)() );
/* 00000 =/
double *adams( double yO, double a, double b, int n,
int N, double eps, double (*f)() );

/* 00000000 =/

double *rk4( double yO, double *y, double a, double b, int n, double (*£f)() );
/+ 00000 %/

double *adams( double yO, double x*y,
double (*f)() );

double a, double b, int n, int N, double eps,

11




O

p-172 0 main OO
O

y = dvector( 0, n ); /* 00000 */

/= 00000 =/
y = adams( yO, a, b, n, N, eps, func );

/¥ 00000 =/

h = (b-a)/n ; /¥ 000 =/
for (1 =0 ; i <=mn ; i++)
{
printf("x=%f \t y=%f \n", a+ixh, y[i] );
¥
return 0;

y = dvector( 0, n ); /* 0O0O0o0o0

/* 00000 =/
y = adams( yO,y, a, b, n, N, eps, func );

/¥ 00000 =/

h = (b-a)/n ; /* 000 x/
for (1 =0 ; i <=n ; i++)
{

printf("x=%f \t y=%f \n", a+ixh, y[i] );
¥
free_dvector( y, 0 ); /+ OOOOO =/
return 0;

*/

p-173, adams O O
0 free_dvector O
00000 return
doooooood
oooooogooo

double *adams( double yO, double a, double b, int n,
int N, double eps, double (*f)() )

{
double yp, h, *y, *F, x;
int i, j;
y = dvector( 0, n ); /* y[0,1,...n1 000 =/
F = dvector( 0, 4 ); /* F[0,1,...4]1 000 =/
return y;

free_dvector( y, 0 ); free_dvector( F, 0 ); /*x DOODOO =/

double xadams( double yO, double xy,
int N, double eps, double (*f)() )
{

double yp, h, *F, x;

int i, j;

F = dvector( 0, 4 ); /* F[0,1,...4]1 000

freedvector( F, 0 ); /+« OOOOO %/
return y;

double a, double b, int n,

*/

12




O

p-173, adams O O
O

y = rk4( yO, a, b, n, f);

y = rk4( yO, y, a, b, n, £);

p.17900 0

/* 00000000 =/
double *bvp(double al, double a2, double uO, double un, int n, double
(+£) 0 )5

/* 00000000 */
double *bvp( double b, double al, double a2, double uQ, double un, int n, double

G£) O );

p-180 0 main O O
goooooooo
gooooood
O

/¥ 000000000000 0000 */

double *gauss( double **a, double *b, int n );

p-180 0 main OO
O

u = bvp( 0.0, 1.0, 0.0, 0.0, n, func );

u = bvp( u, 0.0, 1.0, 0.0, 0.0, n, func );

p-181, bvp OO
0 free_dmatrix O
go0oo00dgd return
ooooo

double *bvp(double al, double a2, double u0, double un, int n, double (*f)() )
{

double h, h2, **a, *b; /+# 000 [al1, a2] */

int i, j;

h = (a2-al)/n; /+* OO0 %/

h2 = h#h;

a = dmatrix( 1, n-1, 1, n-1 ); /* 0000 =/
b = dvector( 1, n-1 ); /* 000000 =/

return b;

/¥ 00000 */
free_dmatrix( a, 1, n-1, 1, n-1); free_dvector( b, 1 );

double *bvp( double #b, double al, double a2, double u0, double un, int n, double
+£)0O )
{

double h, h2, #**xa; /+ OO0 [al, a2] */

int i, j;

= (a2-al)/n; /+ OO0 %/

h
h2 = h#h;
a = dmatrix( 1, n-1, 1, n-1 ); /* 0000 =/

/* 00000 =/
free_dmatrix( a, 1, n-1, 1, n-1);

return b;

13
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O

p.184000 9.1 0O
oooooo

&&DDD%%DAH]DDDMDDDD

&&DDD%%DAH]DDDDDDmﬂDDD

p.18500 (9.11) O
200

1(ur +e(k+1)))
rei(ur +e(k)))

(Afer(ur + e(k), AT e
(Afer(ur,e(k)), A

_ (e (w +e(k), A er(us +e(k +1)))
(Aker(ur + e(k)), Aber(ur + e(k)))

p.18600 0000 | while |v|2 - MNPP <e while [[o[|3 — AW |2>e

oooooo

p.191,00 9.100

00300 2e—y@-y'z _ _ 2Az-y)(='z-y'z) _2 ‘ 2z — y)(a'z — y'x)

(B, —2uu’ )z =

€T

(x—ytx-y) e —yle —xty + y'y
Wate — ot

L, Az wa

2(xte — 2ytx) 2=y =y

(En _ 2uut)w — y)( y) T _

(z
(x-ytx-y) e —y'z —x'y +y'y
2(ztz — y'z) B
2wz =y " YT

= T —

p.192,009.400
0Dooooo 200

00000 (00000000000000000O0

00000 (00000000000000O000OO

p.192, (9.24) O 2
JEpsuE Aerr = PeApPi= (Bn — 2upui) Ax (B — 2uiuy) Appr = PoApPe = (Bn — 2upup) Ac(En — 2upug)
= A - 2Aukuz — QukUZAk + 4ukui,AkukuZ = A - 21—1;‘-,’11,1@’u1;c — 2ukui,Ak + 4uku2AkukuZ
= A —2up{uiAr — (upArur)uy} — 2{Auy, — up,(uj, Apur) buj, = Ay — 2up{ub Ay — (ul Apur)ul} — 2{ Apur — wr(ul Apu) bul
iz T2 Tz o oo T'in ri1 T2 Tz oo oo T1in
0 7‘21 7‘22 ... .. .. rzn 0 /,"22 /,"23 ... .. .. rzn
0 0 ahy -+ - aly,, 0 0 ahy - - al,
p200, 00000 |PRPA=|0 0 aw o am PyPiA= 0 @y -+ o ag
ooo : : 0o : 0
0 O O 0 an,n—l Apn 0 O O 0 an,n—l Ann
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O

O

p.202, QR OO O

ooooUdA,On0OnO0C00OCOC s, 0D0O0O00O0OODOO

O000D0A, 000000 s, 0000000000000 mMm =n

goooooo godboodilodoooobobooobobooooooooooooon
Oo0ooooooooooooooao

p.202, QR OO0 | if |amm—1 <é€| then if |y, m-1] <€ then

goooad

p.202, QRODD | /+ 0O00 */ /* 0000 (D00Om=n000000) +/

goooad

p204 0OOODO
9.30 QROO OO
O

while (m >= 1)

while (m > 1)

p.204, 00000
oooooO

/¥ 0000 =/
s = a[n][nl;

for (i =1; i <=m; i++) alil[i] -= s ;

/¥ 0000 %/
s = aln] [n];
if (m==n) s=0.0; /*m=n0000000000O */

for ( i= 1; i <= m; i++) a[i] [i] -= s ;

p210000000
oooooood

O000000OOQrROUOOOODOO0 AQODODCODOOODOOOOOUOOOO
00000000000000 ADOOODOO A, 0000000000
000AO00O0O0 NODOODOODOODOOO ;000000000000

O000000O0QROUODOCOODOD ADODCODOODODOOODODOO
00000000000000 ADDODOOO 0000000004
ooboo OOO0OO0ODOO0OO0O0O0O0 ;000000000000

p.21000 0 0000000000020 (4-4E,)000000000000 (0000000000040 (A-A\E,)"'00000000000
oooo ooooo

p.2110200 0000000000 (9.100000000000 0000000000 (9.11)000000000

p.211000000 | Input A, X\, n, € Input A, A\, 1, €

0oooooo : :

while ||o]3 — "] <e

while (ut" — pt* ™)/t >e

p2ll, 00000
000O00O00O0
O

gboboooboooobooboooboooboon

00D00DD0000000000000000000000000000
0 (u® - pYy/uY < conDDD00DO00D0DO0DO(A-MNE,) DO
0000000000000000+0000000000000000
00000000000000000000000000 %0 ||y®W)
000000000000000000000000000000000
000000000000000000000
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O

O

p213 0 O0OODO0O
9400000000
go

double v2, v2s, *v, *y,

*x1u, lambda, mu;

/* O0O00O00 =/

do
{

v = lu_solve( lu, y, p );
mu = inner_product( 1, N, v, y );

/¥ 000000000 %/
/* 00 =/

double v2, v2s, *v, *y, x*lu,

/* 0000 =/

do
{
muo = mu;

for ( j =1; j<=N; j++ ) v[jl = y[jl;

lambda, mu=0.0, muo;

i v = lusolve( lu, v, p); /* OOOOOODOOO =/
v2 = inner_product( 1, N, v, v ); mu = inner_product( 1, N, v, y ); /* OO x/
v2s = sqrt(v2); v2 = inner_product( 1, N, v, v );
for( j =1; j <= N ; j++) y[jl=v[jl/v2s; v2s = sqrt(v2);
uhile( fabs(v2-mu) >= eps ); for( j = 1; j <= N ; j*+) y[jl=v[jl/v2s;
}while( fabs((mu-muo)/mu) >= eps );
p2140000, O
00000000 |oooo 0oooog
OooooonQ -24.1485206 21.5793450 14.3382192 12.2309564 -24.1485206 21.5793450 14.3382192 12.2309564
goooooo goooooo
[ 0.0244773 0.0268830 -0.9991047 0.0216307 ]
[ 0.3477018 -0.0201900 0.0473792 0.9361896 ]
[ 0.6705354 0.7004858 0.0599467 -0.2368719 ] [-0.0244773 -0.0268830 0.9991047 -0.0216307 ]
[-0.1466821 -0.9712629 -0.0934406 -0.1624855 1 [-0.3477018 0.0201900  -0.0473792  -0.9361896 ]
[-0.6705354 -0.7004858 -0.0599467 0.2368719 ]
[ 0.1466821 0.9712629 0.0934406 0.1624855 ]

p-225 0 main 0O
oodoi000

int a[N+1],

b[N+1], pi[N+1], i;

int a[N+1], b[N+1], pi[N+1];
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